(DICS 31)
B.A./B.Com./B.Sc. DEGREE EXAMINATION, MAY -2015

Final Year

Paper — I1 : SCIENCE AND CIVILIZATION

Time : 1 1/2 Hours Maximum Marks : 50

1)

2)

3)

4

5)

6)

7)

Section — A (2x13 = 26)

Answer any two of the following in sixty lines

What is satellite? Write about types and uses of satellites.
T3S ORI ? TG &5Arren, Bsee K8y Feasosw.

Write an account on Antibiotics and development of drugs.

8°K D650 S8 Exipre eS8 K78) S Tgesn Frabod.

Solar energy is an upgrowing source of energy-Discuss.

548 (53009 (S aDI] © DSBoHI.

What is the growth of new civilization in ancient ages and Modern ages?

BrAS000K0, 0805 esgodE afKoS® ToKBES Jer 95)59)9 20808.

Write short notes on components of computers.

SoYrgd -®odoryTen 18 S aogo @roHod.
Describe about electron discovery and give properties and application of ~ X-Rays.
O[T 8, Bes e 38R08? X - 88ere B0y, oFFren, S08a0 eI oM ISBoBE.

Section — B (3x4=12)

Answer any three of the following

Write short notes

a)  Test tube baby.
8] e 88D

b)  Semi conductors.

VD éoéégﬁ)
(M)



8

c) Vaccination

Sze ote Tk

d)  Green Revolution.

J8 D330

e) Tidal energy

S$Bor 2)65355

f)  Drug addiction
BeSE (Sge $g950

g)  Soaps and detergents
Senyen - &eBoew

h) Laser’s —Uses

8&(53 - &333erren

1)  Biodiversity

5 Dess0
Section — C
Answer all Questions
Fill in the blanks.
a) Noise level of motor cycles db.
a7 P8S DY), B B a8,

b)  Explosion of Bomb is caused by

23°020 Z.)za%q)éo.‘é -;3(55 08 3BHSE08.

c) M.S. Swaminathan is associated with

M.S. 51’5:1)3"@5 SowoBHen

d) DDT was discovered by :

DDT d g0/°38

(3x4=12)



9) Choose the correct answer:

a) The Heart of the computer is

1) Key board
i1) Mouse

iiil) CPU

iv) Printer

éo:@‘°§é05§> 28 Ho@30638.

i) &g
i) 350

iii) CPU
V) |Dotd

b) What is the main metal used in the chalcolithic Age
1)  Copper
1) Zinc
i11) Iron

iv) Gold

7", 088 csooros® S0Pon &SBPRoDY T8,
1) o°R

1) «0§

111) a0

1V) =2omedo

c) Naturally occurring Vitamin
1) VitA
i1) VitB
1) VitD
iv) VitC
5%)® dgor oo DS
1) VitA
i1) VitB
ii1)) VitD
iv) VitC



d)

It is used for blasting purposes
1) Dynamite
i1) Chlorine
1i1) Rubber
v) Steel
B DREyereS® ESAPRIG.
1) 3306
i) 883
i) sy

iv) 26

10) Match the following.

a)
b)

c)
d)

a)
b)
c)
d)

FORTRAN. COBOL
Dynamite
Vitamin A

Nucleic acids

FORTRAN, COBOL
BIS
oo A

SoEsmsoren

Alfred Nobel
Computer
DNA, RNA
Night blindness

&S & S*od
50;3"5@5
DNA, RNA
89563

T £ L2



(DBMAT 31)

B.A. DEGREE EXAMINATION, MAY - 2015
Third Year
Part — II: MATHEMATICS - II1
Paper — I1I :Rings and Linear Algebra

Time : 03 Hours Maximum Marks : 80

1)

2)

3)

4

SECTION - A (8x4 = 32)

Answer all Questions

Each Question carries 4 marks

Define a Boolean ring. Prove that in a Boolean ring a+b=0=a=Db.

2rdAHS SoaDo B ABDoBIN. 28 ardaHd Soapos® a+h=0=a=Db &d d&rdoyi.

If f{x), g(x) are non-zero polynomials of F[x], where ‘F’ is a field then prove

thatdeg f(x)-g(x) =deg f x +deg g(x).

g0 ‘F’ 2 d8cdos0ds Fx] agoswen fx), g(x) 88

deg f(x)-g(x) =deg f x +deg g(X) & srs08.

If ¢ =(2,-5,3), e = (1,-3,2), e=(2,-4,-1), e3 = (1,-5,7) then show that « can’t be

expressed as a linear combination of the vectors ey, e; and e;.

a = (2,-5,3), e; = (1,-3,2), e:=(2,-4,-1), e3 = (1,-5,7)wondax & e;, e;, €3 3830 avve

SodrKone [FPahS3 Sesod.

Let U(F) and V(F) be two vector spaces and T:U-—>Vbe a linear transformation,
then prove that R(T) is a subspace of V(F).

U(F), V(F) e» 8ot s8zcosoeeren. T:U — Va8 avers8585 V(F) 3% R(T) &dros0°8 0 @

J°S503.



5

6)

7)

8

9)

Find the inverse of the matrix A = {

§®—i)°:b85 ;’oaso@’:)& &53°Rod A = {

1
2} by using Cayley-Hamiltan theorem.

1
2} SBE gy IS S, E8%) 08,

6 -2 2

Find the eigen values of the matrix A=|-2 3 -1]|.

2 A’ S

Q.

2 -1 3

1B GB0%), rEe3E Densody EX05%) 08,

In an inner product space V(F), then prove that
||| >0, if & 0and

)
ii)

|lace| =1a| ||| where 0,a e Fand 0, « € V

V(F) &3 eoss e)agoéc"éoé‘ 0,aeF, 0, eV enwond

) [af>0.ifa%0 i) [ac|=|al|a| em ssrsosed

Find a unit vector orthogonal to (4,2,3) in R*(R).
R (R) &° (4,2,3) 58%% eowom sod ahrdeS 5833 3085 od.

ii)

SECTION -B (4x12 =48)

Answer all guestions

Each question carries 12 marks

If A and B are two ideals of a ring R, then prove that ANB in also an
ideal of R.

seoapo R &° A, B ev Botk estsgsnver wond ANB  &r R &° estsgsn ed ss08.

If f(x) = 2+3x+4x*+2x7;g(x) = 4+2x+3x" in Zs[x] then find
1) deg[f(x) +g(x)] and 2) deg[f(x).g(x)]
Zs[x] &° f(x) = 2+3x+H4x7+2x°;g(X) = 4+2x+3x" en asostoen wons

1) deg[f(x) + g(x)] 2) deg[f(x).g(x)] 0% 838% 0&.
OR



b)

10) a)

b)

1) If R = {0,1,2,3,4} then prove that (R, +s5, X5) under addition and

ii)

i)

i)

multiplication modules -5 is a field.
R ={0,1,2,3,4} @08 (R, +s5, X5) 50808530, K658 S5°58:500 -5 &5yes §1s0 &

BPS50G.

Prove that (X) is a prime ideal of Z[x] but not a maximal ideal of Z[x].

Z[X] & (X) 2.8 369 e5t58)0 ©HB0ED, VHLED es550 B S50,

Prove that a non-empty subset W(F) of a vector space V(F) is a subspace

of Viff 1) aeWPeW= o eW and2) ackF,aeW= aad €W

V(F) a8 368w ogoedo. W(F) o35 508 W V. V 6 W a8 édmosoedo
S8 eSEgE SO daparen

DaeWReW= o € W8os»

2) aeF,baeW= aa €W.
Prove that a mapping T:R? — R? defined by T(a,b) = (2a+3b, 3a-4b) is a

linear transformation.

T:R? > R®s%awrd, T(a,b) = (2a+3b, 3a-4b) ddo508:56. T avver 56559 &
Soesod.
OR

If a,fB,y are linearly independent vectors of V(R), then show that
a+ B,B+y,y+a are also linearly independent.

V(R) a8, @, B,y en axee Frciolss S85e0 eod

a+[,L+y,y+a e e aer AeeB0g O WrS0d.

ii) Find the null space, range, rank and nullity of the transformation T:R* — R®

defined by T(x,y) = (xty, x-y, y).

T:R? - R’ awer 36383 T(x,y) = (x+y, x-p, y) @2 36:9% T g, draegosoevo,

T, §°63 8ok SBIGS Ao X8 08.



11)a) 1)  Reduce the matrix A = into Echelon from and  hence find

D W N
o N BN
~N P wow
g1 W N O

its rank.
2 A 88D @1§¢wnoé‘a§ 25°8y, €5 S37BE Bo%), §°63D K8 0d.

Q-

5 4
1) Find the eigen values and eigen vectors of the matrix A = L 2} :

2 ‘A’ SB%H oEERS Denen B0 eREBY KBTOD K8 08,

Q.

OR
1 2 3
b) 1) If A=|{2 -1 4 |, verify Cayley-Hamiltan theorem and hence find
3 1 -1

Al?

2 A’ a8 80-2eS daroaed, 9808, 00 5008 AT % 5505%,08.

Qm

0 0 1
i) f A=|1 0 -1/, test A for diagonalizability.
01 1

2 A’ 3880 D8Bans $88ow0d.

Q.

12) a) 1) State and prove Cauchy-Schwarz inequality.
5%, § ORETIBD 33909, DErdosod.

ii) Find a unit vector orthogonal to (2,1,2) in R’.
R¥6"(2,1,2) 8 oomom &, choedeS 564 83508°,08.

OR
b) 1) State and prove Bessel’s in equality.

BAS HISTHIBD (550D BP0,



1) Given {(2,1,3), (1,2,3), (1,1,1)} is a basis of R’®, construct an orthonormal

basis.

R’s* {(2,1,3), (1,2,3), (1,1,1)} es58:00008 &8 eoerdeow esgedo Agos0d.

T {3 i3



(DBMAT 32)

B.A. DEGREE EXAMINATION, MAY - 2015

Paper — IV : Numerical Analysis

Time : 03 Hours

Third Year
Part — 11 : MATHEMATICS -1V

Maximum Marks : 80

D)

2)

3)

4

5)

SECTION - A

Answer all Questions

All Questions carry equal marks

Evaluate i) A’(ab*) i) A(log3X) evseso g8% 0a.

Find the missing value in the following table.

X

45

50

55

60

f(x)

3.0

2.0

0.225

2 36356° @5yER0N DenSid EHRRS0.

1)  Write Bessel’s interpolation formula.

5«6‘\)5“) eaoéﬁs’éé Ao°|IBCPOD L;)"’Q‘SJO&.

i1) Write Everett’s interpolation formula.

D5Be5) ©oBBENS W (B OR (FaHod.

(8x4 =32)

Apply Gauss’s forward formula to find the value of uy, if up = 14,u4 = 24, ug = 32,

Ui = 35, U1 = 40.

ug = 14, us = 24, ug = 32, upx = 35, ujg = 40 @o0d ™ HEHKS K)J‘LG‘:)& &3abrRow Ug

DI AT,

Using Taylor’s series method to solve the eq"

and y'(0) =1

dy = X — y*with conditions y(0) = 1
X

S, 33 558 a5BrRod % =X—Y*;1(0)=1, y'(0) =1 3255005 360308.
X



6)

7)

8

9)

Obtain Picard’s first approximate solution of the initial value problem

d X2
d—izmi y(0)=0 .

D SRR 2)S°§ ) oesed G200 eI wmego&.

Find the positive root of x* —x —10=0by Iteration.

DI 358’ X' =X —10=0 5211 G0¥, AHS HreoH EHR"HIO,

Find a real root of the eq” x=e7*, using Newton-Raphson method.

X =€ 5D¥8e05% TS SveeR) :&PQSQS—U":)‘DS SEB T EORA"I0.

SECTION -B (4x12 = 48)

Answer all guestions

All guestions carry equal marks

X

a) 1)  Evaluate A(Z—IJ; h=1 % KB0s0d.
X!

ii) Evaluate A®C0S’2X 9ens o280

OR
b) 1) Ifgy =1 14=0, 1, =5p,=22,1,=57, find y,, by using Newton’s forward
interpolation formula.
ty =1, 4, =0, g1, =5, p1; =22, 11, =57 0008 1, ;%0 Igod HE KN ©0BB3
oeo &3airRow SRS,

i1)  Derive Lagrange’s Interpolation formula.
S[T0 ©OBBES KUP(BORD ToRENSD.

10) a) 1) Find y(25) using Gauss forward difference formula from the following table.

X 20 24 28 32
y 24 32 35 40

2 3638 5008 P(25)denso R HE LS B¢ Sorosd  &IAPR0D K8 0l



b)

11) a)

b)

i1)  Using Gauss backward difference formula, find £8) from the following
table.

X 0 5 10 15 20 25

f(x) 7 11 14 18 24 32

OR

1)  Apply Stirling’s formula to find a polynomial of degree four which takes

X 1 2 3 4 5

Y 1 -1 1 -1 1

) t{)egé 008 égoﬁ X).)'°L€§°X)& &IA°R0D 45 SBHA DTVIB E0N" oS,

i1) Use Everett’s formula, evaluate f{30) if f(20) = 2854, f(28) = 3162, f(36) =

7088, f(44) = 7984.

f20) = 2854, f(28) = 3162, (36) = 7088, f(44) = 7984 wand 5865, wrEd)

&3330°R0d f(30) <o SR HBoS0.

1) Explain Trapezoidal rule.

[B3rmrondd Sov(@ed) I$Bosod.
1 rd
. dx : : , 1
i1) Show that I— =log2 =0.69315 using Simpson’s — rule.
51+ X 3
1 o odx
0SS = Jr(@eR) &5ATA0D _[ —— =10g 2= 0.69315 @ 3S08.
3 51+ X
OR
i) Find g—y atx=16,if y =J/x from the following table
X
X 15 17 19 21 23 25
y 3.873 4.123 4.359 4.583 4.796 5.000

d
2388 e Y =V X eowd d—y e X = 16 58 ERR"0s0.
® X




11)  Find the value of cos(1.74) from the following table.

X 1.7 1.74 1.78 1.82 1.86

Sinx 0.9857 0.9916 0.9781 0.9691 0.9584

2 3635 3008 c05(1.74) Densis> SRR 0.

12) a) 1) Solve 10x+y+2z=12,2x+10y+z=13,x+y+52=7 by Gauss-Jordan
method.

2 IoEBeT O mf\)-éso;.s ngaé‘ FBoB0d.

i1) By using matrix inversion method, solve

X+2y+3z=12x+3y+8z=13, x+y+z=3.

2 311D 37 @s° IS'SH ;sgaes‘ FB0owS0&.

OR

b) 1) Using Jacobi’s iterative method to solve
14x, —3X, =8, X, +5x, =11.
2 31O 8% HSKY :)g@es"‘ FBotod

i1) By using Gauss-Seidal method, solve

X, +10X, + X, =6,10X, + X, + X; =6, X, + X, +10X, =6.

2 SIS TH-DES GBS’ Fosod.

T £ {2



(DSTEL 31)
B.A. DEGREE EXAMINATION, MAY - 2015
Third Year
Part — II: TELUGU - I1I

Paper — III : Grammar and History

Time : 03 Hours Maximum Marks : 80

D)

2)

®, & dgerred’ wdgrro od Bok [BEHH S8 3 SPHoE® InGo D (HEHOH ISgraren Trabod

103 L:{)?é&é) éa’bé J3oegeso oraird

eaf\')& L:{)?é&e)é.) J°80) 00 BATeRHB800

JdPerio -

808 s @red® 038 RSP Bes TR0 ToAOE.

a)
b)
©)
d)
e)
f)

g)
h)

(COBP0B500 ©000R HI&B80e0 (e [;’)ée)@ééxoo

oFe Z)éogoa)r{) ALY wméoaao

(SH30DE SBEITS00H KNIEESS’ @0 TVTINSID.
DGornd EEBea080d & Sorrhd

28y oY) w&sowm

Eoyoedoen §a>éw§oww TV

a)é:o) oV LVRVV S Q)é éwzsoanen

«‘30%3553 wés'a"goa)o«‘éo BIervo0)

8oB°RS’ Q0S8 DB SoFsEineRITBILLERIDEON® DS5B0BOE.

a)
b)
©)
d)
e)
f)

g)
h)

SvofRtord
go&%an
Nocries
é).)éboés
308

[-3)
3238
s

Sesoren



3)

4

5)

808 TS’ T2Doe38 S0 B Je | Sardon ISBoBos.
a) 89+ 8os

b) £+ Tead

C) &5 + esF®

d) @& +en

e) Db+ JEDe3

f) B8+ oo

g2) P + &BADID

h) &% + necd

1BoB 385728 Seeed® 28063 Aseersnont IS58owod.

a)  ONOBYTIOEH0

b) &3¢

c) g

d) aF0ds»
e) esBESw
0 (ossw
g) FPd3w
h)  &dsesn

) Tsde8Esn

) Bagio

1808 7°6° BoBoe3D D5Bowod.

a)  NoHEeoDIN
b)  SsBEBeas0
c) IyIessn

d) esSoodeadin



dgeio - es
6) Beord g IB|BS Sofsore [FPahod.
7)  @resnSoH aorSosd grae Do @rabod.
8) T greBgrd) K8y D3BoSod.

9) eograessoasa TEHOD 39, deoid> oIS @géawm Beexd 5800,

10) 808 33" 590838 S3rgraren oeabod.

a) eog o

b)  Sroddsren

c) eogéasrmo

d) &35 15°Aek grsen

€) (o8, S g
f) BE08E Boben

g) eaéoéc"éggmo



(DSTEL 32)

B.A. DEGREE EXAMINATION, MAY - 2015

Third Year
PART - 1I: TELUGU
Paper — IV : Literary Criticism

Time : 03 Hours

Maximum Marks : 80

o) [BFHH SArErIsven [Fraod

(58 (55,9 16 Sroyen

1 ) Q) 3)&)6{3 - 3536{353&9 @:6& D300 DSBoB0B.
Sor

9) éaésé.» - iﬁoé?&b od KPB‘D ba‘bobo&.

S

)  SSE0 - DB G K8y D3BoBod.

3) 3) &31808 3" Bodos38 LT @en T°aHod.
i) s Soren
i) SongEg %08,
i) o8BS

iv)  Soae8grssioen

D) & 1808 70S° Bodoe3d OFNT (e T°aHod.
1) $)0reE B3N
i) &
i) JgBolss DG,

V) eoe‘:)a‘)g J°B0



4

5

d)

d)

350 IBTIIET T O 30, gﬁma& DSBoN0&.
Soe

BB 36( 5T IS0 B0y08.

&3 1808 T°0&° BoB0oe38 egwn Tgagen oabod.

ii) g% - Horew
111) ?,Péé:)é‘séo.) - ©FEToeD

v)  |erad

&3 1808 7°0&° Bo&oe38 esn TogRge0 Teabod.

1) 55008 eFeseen
iii) oo - Poren

V) Seeiytsn



(DAHIS 31)

B.A. DEGREE EXAMINATION, MAY - 2015
(Examination at the end of Final Year)
Part — II : HISTORY
Paper - 111 : History of Modern Europe (1789 to 1960 A.D.)

Time : 03 Hours Maximum Marks : 80

Section - A (2 x 10 =20)

Answer any two of the following

1)  Describe the Foreign Policy of Nepolean 1.
305E 3D8OHS DBCOK PSSR (TS

2)  Role of the Bismarck played in the unification of Germany.

238)d 285508’ D), (B3 DSBoBod.

3)  What are the causes for Russian Revolution in 1917?

1917 & 258/ Seg IFI0NLH Ko SoBeToD [FPapod?

4) Discuss the causes for the outbreak of I" World War.
00863 (5509 oﬁ»(goégo Ko se8sasnen [@eahod.

Section - B (3 X 15=45)

Answer any three of the following

5) Discuss the results of Industrial Revolution.

FBEDE IS0 AY), $dBOD EraHod.

6) Describe the organizational structure of UNO.

7)  Write the events in Eastern Question from 1856 to 1912.
1856 3008 1912 8% Ko #5382y 083 53050 Erabod.



8)  Describe the Role of America in the I* and 11" World Wars.
3002563 08050 BossS (5509 o:i»tgoess ©DBS> DEEF0DS (@ Je38.

9)  Write a note on Fascism in Italy.

WS’ FRB0P 28 TGO [FPAOBD.

10) Describe the role of Metternich in the Vienna Congress.

DaHT®) SPORRS” 28y DS o 636,

Section - C (3x5=15)

Answer any three of the following

11) a) Danton.

GeoD.

b)  Young Turks.
oHohR eo5b.

¢)  Udrowilson.

é[_ﬁsi)ebs.

d)  War of Greek Independence.
[_ﬁg 6@5&0@’95 DSO°EI0.

e)  Warsa pact.
JI°0°) ¥o8.

f)  Security Council.
HPT° JS.

sk
sk
sk



(DAHIS32)

B.A. DEGREE EXAMINATION, MAY - 2015
(Examination at the end of Final Year)
Part - II : HISTORY
Paper - IV : History of Modern Andhra

Time : 03 Hours Maximum Marks : 80

Section - A (2 x 10 =20)

Answer any two of the following

1)  Briefly narrate the Socio, Economic, Political and Cultural Conditions of Andhradesa under

Sathavahanas.

PETIPS SO0 F0E, es8, Temlab, 0w, 1B 8RHeM Lo IsBoSod.

2)  Describe the Administration of Qutubshahi’s.

©&S Arare SBI05 K78y [abod.

3)  Write about Anglo-French Rivalry in Andhara.
e30155S° 8RS @O - [P0 oo EeaDod.

4) Explain the Salt Sathyagraha Movement in Andhra.
S0BS™ &3y, BT gFoR DIBoBos.

Section - B (3 x 15 =45)

Answer any three of the following

5)  Explain the Socio, Economic, Religious and cultural conditions of Andhradesa under Kakatiya’s.

59580500 oS e30|B5BF0S) oNy, e85, % 38050 0w, 1BY :saggawm DIB0B0A.

6) Explain the reforms introduced by Salar Jung I.
uesed Frebasofl Sox)Bervid D87 Sod.

7)  Describe the Home-Rule Movement in Andhra.
305" FPoBrS &BSBND [Frapod.



8)

9)

10)

11)

Explain the Visalandhra Movement.

DFOE GeSgS0B0R DSBoSod.

Explain the Communist Movement in Telangana.

BoomrerS®D TDSY SEErOM 180D ISBoBos.

Write the Role of Sri Potti Sriramulu in the formation of Andhra State.

SOFT°R O3BBeS’ § 6 oosnen T8 (B0 DSBoBos.

a)

b)

d)

Section - C

Answer any three of the following

Astadiggajas.

eogérr\ﬁaoe)o.

Alluri Sita Rama Raju.

ewq:a Saroesoores.

Atrocities of Rajakar’s.

dwsvg oBosoren.

Kandukuri Veerasalingam.

%0058 HB3doro.

Sir Thomas Manro.

28 e SH|S°.

Six Point Farmula.

&% o0 |B°e SPHTo.

&,
&,

N\
N\

sk

(3 x5=15)



(DAHIS33)

B.A. DEGREE EXAMINATION, MAY - 2015
(Examination at the end of Final Year)
Part - II : HISTORY
Paper - IV (E) : History of U.S.A. (1776 — 1945 A.D.)

Time : 03 Hours Maximum Marks : 80

Section - A (2 x 10 =20)

Answer any two of the following

1)  What are the causes of American War of Independence?

©BS® FrcBosy DT LBVILD Ko S*Eeasoen AD?

2)  Give an estimate of the Administration of Thomas Jefferson.

Fo0R BHEIS SBOT® HoK)Beaen K380 [FeatOBN.

3)  What are the causes and results of 1812 war?

1812 %o AEORH Mo SeEasve, $Oseen [Feahod?

4) Explain the Bigstick Policy of Theodore Roosvelt.
BArEE Erd3ey “wds Y87 IFIS0R [Frapod.

Section - B (3 X 15=45)

Answer any three of the following

5)  Evaluate the services of George Washington.

] TA0KLS @RBTE DN VIO DSB0HIN.

6) Describe the causes of American Civil War.

©OBEOESNSLD Ho S*Eeasven [Frabod.

7)  What are the Political and Economical Ideas of Populists?
FHde oresdad, e85 grTrom DIB0YIN?



8)

9)

10)

11)

Explain the Role of America in the [Ind World War.
B (550 mgmé‘ 6085 DBEPODS B (FPAS0B0.

Explain the American open door policy.

@B SAIBoID “LA &5 DRS00 [Featvsn.

Explain the significance of the manro doctorine.

S REZ0S PS50 @abod.

Section - C

Answer any three of the following

a)  Alexander Hamilton.

@SMoEs FEeS.
E] [-X)

b)  Alien and Sedition.
2838, B> Beo.

c¢)  The Muckrakers.

d) The Kellang and Briand fact.
80— oo &S 0.

e) Plant Amendment 1901.
0t 558ea.

f)  Zimmarian Telegram 1917.

23,8aHS Sd(wo.

sk
sk
sk

(3 x5=15)



(DAHIS 34)

B.A. DEGREE EXAMINATION, MAY - 2015
(Examination at the end of Final Year)
Part — II : HISTORY
Paper - IV : Indian Archaeology With Reference to Andhra

Time : 03 Hours Maximum Marks : 80

Section - A (2 x 10 =20)

Answer any two of the following

1)  What is Archaeology? Examine its relationship to other sciences.

DTSR BP0 @0E3 I ? oA B3B8 TR Ko FowoPW.

2)  Describe the significance of excavations at Nagarjunakonda.

TS EP06™) (B580e EranopgsiDh DIB0BM.

3)  Discuss the origin of Brahmi script.

le3ry O Hew Q)*’Sﬁsgmom DIB0w0S.

4) What are the salient features of Vijayanagar Art and Architecture?
DesADNIG T B0y S B @raod?

Section - B (3 X 15=45)

Answer any three of the following

5) Bring out the classifications of Nagara, Vesara, and Dravida temple styles.

ToRE, D98, (DS BarecH X)U"ésaéé'a éﬁéésw.‘éo dos508.

6) Discuss the significance of rock edict XIII of Ashoka.
@88 135 3emo0 [Bra5008)g880 587050500

7)  Describe the Iconographic forms of Navagraha’s.
SIHSI00 (SOI® Ereresd HBoHS0.



8)

9)

10)

11)

Write a note on the Ajanta paintings.

©B0B° ) [B°VD I{)‘Bb) [FPAdS0.

Explain the Art of Amaravati.
“@0°58 B0y 588" K78y I$8050& ?

Write a character features of Microtlithic (or) Mesolithic age.

Roe% 408 (85) Sos Beraiord) ofeTod Erabod.

Section - C

Answer any three of the following

a)  Nataraja.

eTees.

b)  Satavahana Coins.

FeHICTDO JIPEI00e.

c¢)  Gandhara Art.
[AMe]n)le] %ebéé.

d) Lothal
Stped.

e) Pancharama’s.

SOTCTeI°eD.

f)  Lepakshi.
San,

sk
sk
sk

(3 x5=15)





